
1  

Alfa Romeo 4C Maintenance Chart 

Mileage or time passed (whichever comes first)  Miles: 12,000 24,000 36,000 48,000 60,000 72,000 

Months: 12 24 36 48 60 72 

Kilometers 20,000 40,000 60,000 80,000 100,000 120,000 

Check Vehicle Fasteners X  X  X  

Check Mechanical Components Fasteners X X X X X X 

 
2015 - 4C - ALFA 4C COUPE/CONV - 1.8L I4 B GDI TURBO 
04 - Vehicle Quick Reference/Maintenance Schedules/Inspection 
 
VEHICLE FASTENING CHECK 
 

Fig. Ref. Component Fixing dia Torque (DaNm) Torque (Nm) 

1 1 Fastening of the steering box to the body Pin/bush/ spacer/nut M12 6.7 ÷ 7.4 67 - 74 

2 2 Fastening of the door hinge to the body Screw M10 4.1 ÷ 5.0 41 - 50 

3 3 Fastening of the rear part of the chassis to the monocoque (lower side area) Screw M10 4.1 ÷ 5.0 +45° 41 - 50 +45° 

3 4 

Fastening of the rear part of the chassis to the monocoque (lower central area) 

Screw + flat washer M10 4.1 ÷ 5.0 +45° 41 - 50 +45° 

3 5 
Screw + tapered spring washer + 

flat washer 
M10 4.1 ÷ 5.0 +45° 41 - 50 +45° 

3 6 Fastening of the rear part of the chassis to the monocoque (upper side area) Screw M12 8.6 ÷ 9.5 86 - 95 

4 7 Fastening of the side brace to the monocoque Screw M10 3.8 ÷ 4.2 38 - 42 

5 8 Fastening of the front chassis to the monocoque Nut M10 3.8 ÷ 4.2 38 - 42 

5 9 Fastening of the front chassis to the monocoque Nut M12 7.1 ÷ 7.9 71 - 79 

5 10 Fastening of the front chassis to the monocoque Screw M10 5.7 ÷ 6.3 57 - 63 

  

https://w05.dealerconnect.chrysler.com/service/mds2002/common/jsp/xml.jsp?NewSoftLinkId=0400000004040&TOCPath=04%20-%20Vehicle%20Quick%20Reference%20/%20Maintenance%20Schedules/Inspection&XMLURL=/service/mds2002/serviceInfo/en_US/GUID-2D19F6F7-1AFC-469C-A888-674DE6D7E16E.xml&FORMAT_TYPE=NAS&platform=4C&year=2015&lang=en_US&VID=3552676667;#GUID-F7E2D477-4AC6-41FD-8D62-B95069DAC72E
https://w05.dealerconnect.chrysler.com/service/mds2002/common/jsp/xml.jsp?NewSoftLinkId=0400000004040&TOCPath=04%20-%20Vehicle%20Quick%20Reference%20/%20Maintenance%20Schedules/Inspection&XMLURL=/service/mds2002/serviceInfo/en_US/GUID-2D19F6F7-1AFC-469C-A888-674DE6D7E16E.xml&FORMAT_TYPE=NAS&platform=4C&year=2015&lang=en_US&VID=3552676667;#GUID-813DE9FC-816E-431A-9D35-C63C6DD8B1B3
https://w05.dealerconnect.chrysler.com/service/mds2002/common/jsp/xml.jsp?NewSoftLinkId=0400000004040&TOCPath=04%20-%20Vehicle%20Quick%20Reference%20/%20Maintenance%20Schedules/Inspection&XMLURL=/service/mds2002/serviceInfo/en_US/GUID-2D19F6F7-1AFC-469C-A888-674DE6D7E16E.xml&FORMAT_TYPE=NAS&platform=4C&year=2015&lang=en_US&VID=3552676667;#GUID-06F9AD00-1998-4C85-9845-47027AF5BF9A
https://w05.dealerconnect.chrysler.com/service/mds2002/common/jsp/xml.jsp?NewSoftLinkId=0400000004040&TOCPath=04%20-%20Vehicle%20Quick%20Reference%20/%20Maintenance%20Schedules/Inspection&XMLURL=/service/mds2002/serviceInfo/en_US/GUID-2D19F6F7-1AFC-469C-A888-674DE6D7E16E.xml&FORMAT_TYPE=NAS&platform=4C&year=2015&lang=en_US&VID=3552676667;#GUID-06F9AD00-1998-4C85-9845-47027AF5BF9A
https://w05.dealerconnect.chrysler.com/service/mds2002/common/jsp/xml.jsp?NewSoftLinkId=0400000004040&TOCPath=04%20-%20Vehicle%20Quick%20Reference%20/%20Maintenance%20Schedules/Inspection&XMLURL=/service/mds2002/serviceInfo/en_US/GUID-2D19F6F7-1AFC-469C-A888-674DE6D7E16E.xml&FORMAT_TYPE=NAS&platform=4C&year=2015&lang=en_US&VID=3552676667;#GUID-06F9AD00-1998-4C85-9845-47027AF5BF9A
https://w05.dealerconnect.chrysler.com/service/mds2002/common/jsp/xml.jsp?NewSoftLinkId=0400000004040&TOCPath=04%20-%20Vehicle%20Quick%20Reference%20/%20Maintenance%20Schedules/Inspection&XMLURL=/service/mds2002/serviceInfo/en_US/GUID-2D19F6F7-1AFC-469C-A888-674DE6D7E16E.xml&FORMAT_TYPE=NAS&platform=4C&year=2015&lang=en_US&VID=3552676667;#GUID-06F9AD00-1998-4C85-9845-47027AF5BF9A
https://w05.dealerconnect.chrysler.com/service/mds2002/common/jsp/xml.jsp?NewSoftLinkId=0400000004040&TOCPath=04%20-%20Vehicle%20Quick%20Reference%20/%20Maintenance%20Schedules/Inspection&XMLURL=/service/mds2002/serviceInfo/en_US/GUID-2D19F6F7-1AFC-469C-A888-674DE6D7E16E.xml&FORMAT_TYPE=NAS&platform=4C&year=2015&lang=en_US&VID=3552676667;#GUID-9C7FB2ED-5FD2-48E3-923B-12D89ED5076E
https://w05.dealerconnect.chrysler.com/service/mds2002/common/jsp/xml.jsp?NewSoftLinkId=0400000004040&TOCPath=04%20-%20Vehicle%20Quick%20Reference%20/%20Maintenance%20Schedules/Inspection&XMLURL=/service/mds2002/serviceInfo/en_US/GUID-2D19F6F7-1AFC-469C-A888-674DE6D7E16E.xml&FORMAT_TYPE=NAS&platform=4C&year=2015&lang=en_US&VID=3552676667;#GUID-3C47E56F-7FCD-4959-8BDC-00805CCD57A8
https://w05.dealerconnect.chrysler.com/service/mds2002/common/jsp/xml.jsp?NewSoftLinkId=0400000004040&TOCPath=04%20-%20Vehicle%20Quick%20Reference%20/%20Maintenance%20Schedules/Inspection&XMLURL=/service/mds2002/serviceInfo/en_US/GUID-2D19F6F7-1AFC-469C-A888-674DE6D7E16E.xml&FORMAT_TYPE=NAS&platform=4C&year=2015&lang=en_US&VID=3552676667;#GUID-3C47E56F-7FCD-4959-8BDC-00805CCD57A8
https://w05.dealerconnect.chrysler.com/service/mds2002/common/jsp/xml.jsp?NewSoftLinkId=0400000004040&TOCPath=04%20-%20Vehicle%20Quick%20Reference%20/%20Maintenance%20Schedules/Inspection&XMLURL=/service/mds2002/serviceInfo/en_US/GUID-2D19F6F7-1AFC-469C-A888-674DE6D7E16E.xml&FORMAT_TYPE=NAS&platform=4C&year=2015&lang=en_US&VID=3552676667;#GUID-3C47E56F-7FCD-4959-8BDC-00805CCD57A8


2  

 

 
 Fig. 1 
 

Fig. Ref. Component Fixing dia Torque (DaNm) Torque (Nm) 

1 1 Fastening of the steering box to the body Pin/bush/ spacer/nut M12 6.7 ÷ 7.4 67 - 74 

  

https://w05.dealerconnect.chrysler.com/service/mds2002/common/jsp/xml.jsp?NewSoftLinkId=0400000004040&TOCPath=04%20-%20Vehicle%20Quick%20Reference%20/%20Maintenance%20Schedules/Inspection&XMLURL=/service/mds2002/serviceInfo/en_US/GUID-2D19F6F7-1AFC-469C-A888-674DE6D7E16E.xml&FORMAT_TYPE=NAS&platform=4C&year=2015&lang=en_US&VID=3552676667;#GUID-F7E2D477-4AC6-41FD-8D62-B95069DAC72E


3  

 
 Fig. 2 
 

Fig. Ref. Component Fixing dia Torque (DaNm) Torque (Nm) 

2 2 Fastening of the door hinge to the body Screw M10 4.1 ÷ 5.0 41 - 50 

  

https://w05.dealerconnect.chrysler.com/service/mds2002/common/jsp/xml.jsp?NewSoftLinkId=0400000004040&TOCPath=04%20-%20Vehicle%20Quick%20Reference%20/%20Maintenance%20Schedules/Inspection&XMLURL=/service/mds2002/serviceInfo/en_US/GUID-2D19F6F7-1AFC-469C-A888-674DE6D7E16E.xml&FORMAT_TYPE=NAS&platform=4C&year=2015&lang=en_US&VID=3552676667;#GUID-813DE9FC-816E-431A-9D35-C63C6DD8B1B3


4  

 

 
 Fig. 3 
 

Fig. Ref. Component Fixing dia Torque (DaNm) Torque (Nm) 

3 3 Fastening of the rear part of the chassis to the monocoque (lower side area) Screw M10 4.1 ÷ 5.0 41 - 50 

3 4 

Fastening of the rear part of the chassis to the monocoque (lower central area) 

Screw + Flat Washer M10 4.1 ÷ 5.0 41 - 50 

3 5 
Screw + tapered spring washer + 

flat washer 
M10 4.1 ÷ 5.0 41 - 50 

3 6 Fastening of the rear part of the chassis to the monocoque (lower side area) Screw M12 8.6 ÷ 9.5 86 - 95 

  

https://w05.dealerconnect.chrysler.com/service/mds2002/common/jsp/xml.jsp?NewSoftLinkId=0400000004040&TOCPath=04%20-%20Vehicle%20Quick%20Reference%20/%20Maintenance%20Schedules/Inspection&XMLURL=/service/mds2002/serviceInfo/en_US/GUID-2D19F6F7-1AFC-469C-A888-674DE6D7E16E.xml&FORMAT_TYPE=NAS&platform=4C&year=2015&lang=en_US&VID=3552676667;#GUID-06F9AD00-1998-4C85-9845-47027AF5BF9A
https://w05.dealerconnect.chrysler.com/service/mds2002/common/jsp/xml.jsp?NewSoftLinkId=0400000004040&TOCPath=04%20-%20Vehicle%20Quick%20Reference%20/%20Maintenance%20Schedules/Inspection&XMLURL=/service/mds2002/serviceInfo/en_US/GUID-2D19F6F7-1AFC-469C-A888-674DE6D7E16E.xml&FORMAT_TYPE=NAS&platform=4C&year=2015&lang=en_US&VID=3552676667;#GUID-06F9AD00-1998-4C85-9845-47027AF5BF9A
https://w05.dealerconnect.chrysler.com/service/mds2002/common/jsp/xml.jsp?NewSoftLinkId=0400000004040&TOCPath=04%20-%20Vehicle%20Quick%20Reference%20/%20Maintenance%20Schedules/Inspection&XMLURL=/service/mds2002/serviceInfo/en_US/GUID-2D19F6F7-1AFC-469C-A888-674DE6D7E16E.xml&FORMAT_TYPE=NAS&platform=4C&year=2015&lang=en_US&VID=3552676667;#GUID-06F9AD00-1998-4C85-9845-47027AF5BF9A
https://w05.dealerconnect.chrysler.com/service/mds2002/common/jsp/xml.jsp?NewSoftLinkId=0400000004040&TOCPath=04%20-%20Vehicle%20Quick%20Reference%20/%20Maintenance%20Schedules/Inspection&XMLURL=/service/mds2002/serviceInfo/en_US/GUID-2D19F6F7-1AFC-469C-A888-674DE6D7E16E.xml&FORMAT_TYPE=NAS&platform=4C&year=2015&lang=en_US&VID=3552676667;#GUID-06F9AD00-1998-4C85-9845-47027AF5BF9A


5  

 
 Fig. 4 
 

Fig. Ref. Component Fixing dia Torque (DaNm) Torque (Nm) 

4 7 Fastening of the side brace to the monocoque Screw M10 3.8 ÷ 4.2 38 - 42 

  

https://w05.dealerconnect.chrysler.com/service/mds2002/common/jsp/xml.jsp?NewSoftLinkId=0400000004040&TOCPath=04%20-%20Vehicle%20Quick%20Reference%20/%20Maintenance%20Schedules/Inspection&XMLURL=/service/mds2002/serviceInfo/en_US/GUID-2D19F6F7-1AFC-469C-A888-674DE6D7E16E.xml&FORMAT_TYPE=NAS&platform=4C&year=2015&lang=en_US&VID=3552676667;#GUID-9C7FB2ED-5FD2-48E3-923B-12D89ED5076E


6  

 
Fig. 5 

 

Fig. Ref. Component Fixing dia Torque (DaNm) Torque (Nm) 

5 8 Fastening of the front chassis to the monocoque Nut M10 3.8 ÷ 4.2 38 - 42 

5 9 Fastening of the front chassis to the monocoque Nut M12 7.1 ÷ 7.9 71 - 79 

5 10 Fastening of the front chassis to the monocoque Screw M10 5.7 ÷ 6.3 57 - 63 

  

https://w05.dealerconnect.chrysler.com/service/mds2002/common/jsp/xml.jsp?NewSoftLinkId=0400000004040&TOCPath=04%20-%20Vehicle%20Quick%20Reference%20/%20Maintenance%20Schedules/Inspection&XMLURL=/service/mds2002/serviceInfo/en_US/GUID-2D19F6F7-1AFC-469C-A888-674DE6D7E16E.xml&FORMAT_TYPE=NAS&platform=4C&year=2015&lang=en_US&VID=3552676667;#GUID-3C47E56F-7FCD-4959-8BDC-00805CCD57A8
https://w05.dealerconnect.chrysler.com/service/mds2002/common/jsp/xml.jsp?NewSoftLinkId=0400000004040&TOCPath=04%20-%20Vehicle%20Quick%20Reference%20/%20Maintenance%20Schedules/Inspection&XMLURL=/service/mds2002/serviceInfo/en_US/GUID-2D19F6F7-1AFC-469C-A888-674DE6D7E16E.xml&FORMAT_TYPE=NAS&platform=4C&year=2015&lang=en_US&VID=3552676667;#GUID-3C47E56F-7FCD-4959-8BDC-00805CCD57A8
https://w05.dealerconnect.chrysler.com/service/mds2002/common/jsp/xml.jsp?NewSoftLinkId=0400000004040&TOCPath=04%20-%20Vehicle%20Quick%20Reference%20/%20Maintenance%20Schedules/Inspection&XMLURL=/service/mds2002/serviceInfo/en_US/GUID-2D19F6F7-1AFC-469C-A888-674DE6D7E16E.xml&FORMAT_TYPE=NAS&platform=4C&year=2015&lang=en_US&VID=3552676667;#GUID-3C47E56F-7FCD-4959-8BDC-00805CCD57A8


7  

MECHANICAL COMPONENT FASTENING CHECK 
 

Fig. Ref. Component Fixing dia Torque (DaNm) Torque (Nm) 

1 1 Fastening of the shock absorber upper bracket to the body Nut M10 5.2 ÷ 5.8 +45° 52 - 58 +45° 

1 2 Fastening of the upper arms to the body Nut M10 5.2 ÷ 5.8 +45° 52 - 58 +45° 

1 3 Fastening of the lower arms to the body Nut M10 5.2 ÷ 5.8 +45° 52 - 58 +45° 

2 4 Fastening of the fuel tank to the body Screw M8 3.2 ÷ 3.9 32 - 39 

 
  

https://w05.dealerconnect.chrysler.com/service/mds2002/common/jsp/xml.jsp?NewSoftLinkId=0400000004040&TOCPath=04%20-%20Vehicle%20Quick%20Reference%20/%20Maintenance%20Schedules/Inspection&XMLURL=/service/mds2002/serviceInfo/en_US/GUID-DDE30798-F723-417F-AFB7-EAA7FF5114E1.xml&FORMAT_TYPE=NAS&platform=4C&year=2015&lang=en_US&VID=3552676667;#GUID-E947D184-324F-451E-A426-78CFE91A8CAF
https://w05.dealerconnect.chrysler.com/service/mds2002/common/jsp/xml.jsp?NewSoftLinkId=0400000004040&TOCPath=04%20-%20Vehicle%20Quick%20Reference%20/%20Maintenance%20Schedules/Inspection&XMLURL=/service/mds2002/serviceInfo/en_US/GUID-DDE30798-F723-417F-AFB7-EAA7FF5114E1.xml&FORMAT_TYPE=NAS&platform=4C&year=2015&lang=en_US&VID=3552676667;#GUID-E947D184-324F-451E-A426-78CFE91A8CAF
https://w05.dealerconnect.chrysler.com/service/mds2002/common/jsp/xml.jsp?NewSoftLinkId=0400000004040&TOCPath=04%20-%20Vehicle%20Quick%20Reference%20/%20Maintenance%20Schedules/Inspection&XMLURL=/service/mds2002/serviceInfo/en_US/GUID-DDE30798-F723-417F-AFB7-EAA7FF5114E1.xml&FORMAT_TYPE=NAS&platform=4C&year=2015&lang=en_US&VID=3552676667;#GUID-E947D184-324F-451E-A426-78CFE91A8CAF
https://w05.dealerconnect.chrysler.com/service/mds2002/common/jsp/xml.jsp?NewSoftLinkId=0400000004040&TOCPath=04%20-%20Vehicle%20Quick%20Reference%20/%20Maintenance%20Schedules/Inspection&XMLURL=/service/mds2002/serviceInfo/en_US/GUID-DDE30798-F723-417F-AFB7-EAA7FF5114E1.xml&FORMAT_TYPE=NAS&platform=4C&year=2015&lang=en_US&VID=3552676667;#GUID-87B071D7-E77A-46A3-9FD3-F27B4FE0E10A


8  

 

 
Fig. 1 

 

Fig. Ref. Component Fixing dia Torque (DaNm) Torque (Nm) 

1 1 Fastening of the shock absorber upper bracket to the body Nut M10 5.2 ÷ 5.8 +45° 52 - 58 +45° 

1 2 Fastening of the upper arms to the body Nut M10 5.2 ÷ 5.8 +45° 52 - 58 +45° 

1 3 Fastening of the lower arms to the body Nut M10 5.2 ÷ 5.8 +45° 52 - 58 +45° 

  

https://w05.dealerconnect.chrysler.com/service/mds2002/common/jsp/xml.jsp?NewSoftLinkId=0400000004040&TOCPath=04%20-%20Vehicle%20Quick%20Reference%20/%20Maintenance%20Schedules/Inspection&XMLURL=/service/mds2002/serviceInfo/en_US/GUID-DDE30798-F723-417F-AFB7-EAA7FF5114E1.xml&FORMAT_TYPE=NAS&platform=4C&year=2015&lang=en_US&VID=3552676667;#GUID-E947D184-324F-451E-A426-78CFE91A8CAF
https://w05.dealerconnect.chrysler.com/service/mds2002/common/jsp/xml.jsp?NewSoftLinkId=0400000004040&TOCPath=04%20-%20Vehicle%20Quick%20Reference%20/%20Maintenance%20Schedules/Inspection&XMLURL=/service/mds2002/serviceInfo/en_US/GUID-DDE30798-F723-417F-AFB7-EAA7FF5114E1.xml&FORMAT_TYPE=NAS&platform=4C&year=2015&lang=en_US&VID=3552676667;#GUID-E947D184-324F-451E-A426-78CFE91A8CAF
https://w05.dealerconnect.chrysler.com/service/mds2002/common/jsp/xml.jsp?NewSoftLinkId=0400000004040&TOCPath=04%20-%20Vehicle%20Quick%20Reference%20/%20Maintenance%20Schedules/Inspection&XMLURL=/service/mds2002/serviceInfo/en_US/GUID-DDE30798-F723-417F-AFB7-EAA7FF5114E1.xml&FORMAT_TYPE=NAS&platform=4C&year=2015&lang=en_US&VID=3552676667;#GUID-E947D184-324F-451E-A426-78CFE91A8CAF


9  

 

 
Fig. 2 

 

Fig. Ref. Component Fixing dia Torque (DaNm) Torque (Nm) 

2 4 Fastening of the fuel tank to the body Screw M8 3.2 ÷ 3.9 32 - 39 

 

https://w05.dealerconnect.chrysler.com/service/mds2002/common/jsp/xml.jsp?NewSoftLinkId=0400000004040&TOCPath=04%20-%20Vehicle%20Quick%20Reference%20/%20Maintenance%20Schedules/Inspection&XMLURL=/service/mds2002/serviceInfo/en_US/GUID-DDE30798-F723-417F-AFB7-EAA7FF5114E1.xml&FORMAT_TYPE=NAS&platform=4C&year=2015&lang=en_US&VID=3552676667;#GUID-87B071D7-E77A-46A3-9FD3-F27B4FE0E10A

